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A 104 [ ] St
- Q. P. Code: 09310
[Time: - 2% Hours] [ Marks: 75]
N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks. ;
3. Make use of diagrams wherever necessary:
Q.1A) Fillin the blanks. (any 8) 08

vi.

vii.

viii.

iX.

X.

www has its own protocol known as ) AR
An absolute reference is designated in a fétmula by the addition of a " sign.

URL stands for

A website contains web pages. wifh ﬂxed cont_enfc:
Typing =5+2*8 in a cell of MS Excel Qvill resultin
function determit_?é?‘ the highest cell v‘a‘lue i_nduded in the ar-gumeht.'
function is used to réﬂdce a given value to.a ﬁpecific number of decimal places
is a protocol f‘or exchénging files.on the internet
printers.are of two types —dot matrix brinters and daisy wheel printers.

DOS stands for

B) True or False. (Any 7) -

Vi.

vii.

Viii.

Amazon com isan. example of C2C busmess model
Lmux is an example of application softwar_e
In second generation computers vacuum tubes were used as electronic components.

HTML stands for Hype'f Tex‘t Machine Language

In a worksheet columns are identified by numbers 1,2,3 etc and rows are identified by

Ietters A B,C etc

MICR stands for Machine Ink Character Recognition

' The common top‘ Ievel'domain name for military entities is .arm

A web site is a collectlon of web pages maintained by a single person or organization
that are linked to each other to form a single body of information.

- MS Word.énd‘ MS Excel are the only products available under MS Office

Turn Over
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Q.2 A)
B)

Q.2 A)
B)

Q3 A)
B)

Q.3 A)
B)

Q.4 A)

B)

Q.4 A)
B)

Q.5

2
. FTP stands for Functional Transmission Protocol

Explain different types of computer generations.
Explain any four Secondary memory devices.

OR N
Explain Super computer and Mainframe computer Also state their applications.
Explain the following Input devices. &
i) Light Pen
ii) Joysticks
iii) Trackball

iv) Track pads

List Pros and Cons of Plasma display.

What are printer? Explain Daisy wheel printer and Chain printer.
& OR

Write down all necessary steps to compose an Email message.

Explain different types of E-commerce.

Explain the following serwces an Internet.
i) Blogs
ii) Social Media
Give solutions to the following problems
i) The computer is frozen.
ii) The sound isn’t working,
< i -~ OR
What are browsers? Explain any two browser.
Explain the following tools of MS word 2013 interface.
i) - Quick access toolbar
ii) The Ribbon
iii) Account access
iv) Ruler
v) Scroll bar
vi}- Zoom control
vii) Word count

Write a short note on : (any 3)
(a) Classification of printers:

(b) Different type; qf'suppdrting utilities
{c) VLOOKUP-and HLOOKUP functions
(d) Search directories

(e) Cache ‘Mem‘ory

0E39219B6EDSF7FFBD5AC408280569D7
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Q.P. Code 05555 ': ;
. [Time: 21/, Hours] 3 ' [ Marks‘?S] .'
Please check whether you have got the right quEstron paper
N.B: 1. All questions are compulsory. : S,
2. Figures to the right indicate full marks.
3. Draw diagrams where necessary.

-~

oL s

08

Q.1 A) Fillin the blanks with appropriate words ( any eight) ) O S D Y B
1) e is the variety of different types of llfe found on earth & Varlatrons thhm spécnes :
(Biodiversity, Industry, Agriculture) DIV W -
2) Earth is known as the --------—---, TN P
(Red Planet, Blue Planet, Green Planet)
3) Deforestation refers to the loss of -w»--—‘-nl-"‘ SRS
( forest cover, Desert cover, mountam cdver) TSRS PR A 10 B D
4) Human activities which generate lncome are known as ------~—~. ,:activ‘gties. DLNEL
( Social, Economical, Political): 2 S (D N AT
5) ------—- degradation is the dechne ih sm! quallty
(Water, Soil, Air) A AV > A
6) Environmental management is both a--_-=-_-‘-i_-~— ahd process. e
(Technique, tool, System) - 3
7) A society cannot survive if |ts-’=—-' -~-l-~re50urces are rehdered unﬁt for use by the its people.
( Natural, Manmade, None oflt}r-,_ <7 3 Py
8) The process of eﬂvlr’onmental managhment is dlvrded mto i-———-——»--phases
(246) &8 3. ¢ & ST '
9) EIA helpsiin; balancmg the needs of --a——~-~-u\mth the need to mamtam environmental characteristics.
( food, deVelupment management) . Dol
10) GPS: ce‘ncept is based on*--*--—»--—‘ '
('I"me Temperature Ramfall)
B) State whether followmg statements are True or faISe (any seven) B

1] Actmtles asSoclated wnth itertlar\( sEctOr are ' transportation and tourism.
2)" Waste dlspoSa! isa ser|OUS problem in the places where high concentration of tourist actives takes
place..w "~

3) “India has eight bccgeograbhlc Zones,

4) One of the: ‘major cause of en\rlronmental degradation is human actives.

5) .Chinaisa Iargest produCers of . hydro electric power.

6)" Enwronmentai Audltmg is carried out for assessing the environmental effects of current activities.
“7). Future wars vwll be wars for weapon and not for land.
-8) Mountamous areas’ remain economically developed.

9) .ISOI4000 i rela{ed to envurOnmentaI management.
: 10} The Kalahari desserts ar’e in South America.

Turn Over
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Q.2 A) a) Explain the remedial measures that are useful for the repair the biotic res,(:f !
b) What is biological diversity? What are the benefits from biological dwerslty?—
OR '\\fb\&""‘.:’ £

¢) How do the components of living environment influence the develobr;gént ofhuman
Q.3 A) Explain the term global warming and state its effects.
B) What are causes of desertification? &
OR %
C) Discuss the measures to conserve forest.
D) Explain the sources of non-renewable energy.
Q4 A) Which factors are affecting the location of mdu_ktﬂé;
B) What is the impact of tourism on enviro ent? P
OR PN ‘\'_ Vo
C) What are the environmental issues mlgt‘éd‘vmnﬂghiqg?ﬁ
— D) What are the impact of transpor%s?cj’or‘n@e rbgmght?"
\‘_ \\ N -

5

7

3

Q.5  What is environmental Audit? Explam thé.fe}tu;es

OR :
Write short notes ( any three) A ,\ A58
1) Ecological pyramid .= -
2)
3) Air pollution
4) Solarenergy -
5) GIS. %

687035EEB3FB941 1 FOE] 161529BE87D7



[Time: Two hours thirty minutes ]

N.B:1All question are compulsory and carry equal mark.
2) Use of simple calculator is allowed.

Y L

a) Based on all observation

c) Rigidly defined

a) Mode
c) Ogive
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A) Write limitation of Statistics

Q.5

ry and Secondary Da :

pt Any Three)
ode

B) What are the requisites of good questionnaire

2) Distinguish between Prima
3) Merits and Demerits of M

p) Write short notes ( Attem
4) Pie-Diagram

1) Statistical Error
5) Concept of Regression



Q.P. Code :06_202 ;

[Time: IZ1 Hours] [Marks:75]
Please check whether you have got the right questlon paperi
N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks
.1 A) Select the appropriate answer and fill in the blanks (any elght) G S M Vi - C08
1. A manager is a ———----—--—-0f information. <., e : QB
i) Leader ii) Figurehead iii) Disseminator ;
2. Managerial skills were made popular by -—--—-—s---_©
i) R. L. Katz ii) Henri Mintzberg iii) Max Weber .~
3, - is known as Father of Scientific Management-..
i) F.W Taylor ii) Henri Fayol iii) Elton mayo. ‘
4. MBO is -----------——-goal setting.
i) Individual i) Virtual iii) Joint
5. Planning premises are assumptions and -—=-----
i) Policies i) Predictions iii) Alternatives -
6. Delegation means -—-----—of authority.
i) Acceptance i) Submission “iii) Transfer ' ‘
7. Matrix Organisatim is a combination of project organlsatlon and -=-- e organisation structure.
i) Functional i) Committee - iii) Line
8. Control -----------—--- wastages.
i) Eliminates  ii)Encourages’ iii) Permats
e control identifies and prevents deviations before they oceur.
i) Feed back i) Concurrent " iii) Feed-forward -
10, —===v=mmmmn is a network planning technique.
i) CPM-ii)ROI |||) MIS
Q.1 B) State whether the following statements are True of Fa!se (any seven) 07
1. Managers act as symbolic figurehead.
2. Project is a time bound activity.
3. Decision maklng implies no choice.
4. Departmentation by process|s vertical grouping of activities.
5. Traits are inborn quahtles
6. Line orgamzation structure is traditional structure
7. Luther Gullick coined the term PODSCORB.
8. Self control is better than external control.
9. Feedback mechanismis not important in the controlling process.
10. Control allows Ilmrted de\natlon in performance.

Q.2 A) Define management describe the basic managerial skills. 08
B) What is Scientific’ management? State the main principles of scientific management. 07
OR
Q.2 C) Describe the managerial roles to be played mangers as described by Henri Mintzberg 08

D) Briefly enumerate the issues and challenges faced by the modern management. 07
P.T.O
1
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Q.3 A) Define Planning. Explain

B) Write note on goal

Q.3 C) Describe any four te

D) Explain the different |

Q.4 A) Briefly explain the d

B) What are the advantag

Q.4 C) “Coordination is the e

D) Write a note on dece
Q.5 A) Describe the process

B) Explain the reasons for

Write short notes on ar

Q.5

a.

Kinds of control
b. Contingency &

M.B.O
d. Autocratic leade

€.

Planning Premises

e.



Q.P. Code 05949 S5
gg [Time: 2 % Hours] . ' . [Marks?S]
o3 please check whether you have got the right que§t[ofl pape :

N.B: 1 Solve all questions. Q. Nos. 2,3,4 and 5 hav*e.;n;emalfbptinns
. Working notes should form part of your ansWer e el :

,08

07 o o  ' U
08 Q.1 A Fill in the blanks: (Any 8 out of 10) o T \“\, - ’;.-i: 08
07 a) The money received in excess of face value is known as'_ ooy :

b) Shares are issued by capitalization of.fé‘sewbs S T P S IO
1&} ¢) The amount of debtors due for more than .*'F_ i3 "‘[nonths shcuid be shown sEpdrgte!v iﬁ‘compgny
oo ; st X4

final accounts. 3 N
d) Net block of assets is difference between Gmsfllﬂck and S 5

e) Super profit is excess of average profit over__ .- ey
f) method of share valuatlonils.hased on the assumptlt)nthat the camﬁaﬁy ns gomg to be

liquidated. R

"

g) Maximum buy back in a year can bg ﬁ&j ST UL
h) The post buyback Debt-equity ratio m‘lqtiitmd AR 2
i) The profit on cancellation of own dahénkléss\\ --.’: e pmﬁt
i) Accounting standards are lssue¢n ¥ e S e 36

B State whether following statemimté are tmé offalse .gﬂmy 7 out of 19) 07

a) Stock is valued at cost ormarket prma.ﬁh&:hem is hlghEr i
b) Every transaction must hgweﬂn ewﬂenoe SRl NN
c) Public deposit is secured loan. ISR T OO0 S
d) Dividend is calculated on madlet pﬂcg\oja share, " S 1_5‘ \ o
e) Sweat equity shares’ are lssued‘io exnshnsstlarehoiders (";;i‘“

03 f) Rights issue‘increases share capital. - = o ST

St g) company can buybac;k partly as well asfﬁlly pald up shares

h) The shares miust’ be cancelIEd and ﬁéstroved after huyback
i) Capital reser\ie isa dlvisaﬁleﬁprofr S -
i) lssue cf bonus sha:es increases shaml'\oldx‘.r‘s funds

l‘ Q2A Tata Ltd mwtedapphcatmn for IWBO shares of Rs 100 each at a premium of Rs.25 per share and 15

payable as follows: - Q5 ¢ )
~ On application RsAQS

~0n al{otment Rs.75 (lncludlngpmmtm)
On final call Rs 25 S

Appiitat‘ ons were recered for $5,000 shares and the company made a pro-rata allotment.
Miss Mona hotdmg 200 shares falied to pay the share final call money Her shares were forfeited.

hese shares were rassued‘at Rs. 60 per share.
> Sh@w the entnes\mthe bbt)lu of the company and also the balance sheet of the company.

OR

TURN OVER



B A company wants to issue 10% debenture

are issued

a)
b)

c)

d)
e)

Q.3 A NES Ltd has an authorized cap
balance of the company as on

at par and redeemable at par.
at a discount of 10% and redeemable at par.
at a premium of 5% and redeemable at par
at par and redeemable at 10%premium.

at a discount of 5% and redeemable at 10% premium. L

ital of Rs.1,00,00,000 divided into 10,00,000
31° March, 2017 was as fmﬁ?}}

- i y 4
i __’_‘.ﬁ_ e -‘_-;,*" -
eguity sha s
~— e P Sl A wl
g ANy y KN,
s TT B

Debit Rs. o CrRdRE = > = |
Premises 2250000 | Equity i

Plant & machinery

Debtors
Furniture
Bad Debts

Rent, Rates & Taxes

Advertising

Cash in hand
Cash at Bank
Closing stock

1!..2#..:,5\ E--- 5 -A . o

i e

Director’s fees ;
Sundry expenses -

Salaries

Vehicles = ]
Discount on isstieof s :
Interim Dividénd }

Prepare statemémgfg : |
the prescribed form after considering and following: . -
a) Deﬂ\fetiate\Pl_é"rgt‘&Méghihéryra't‘_loﬁ_‘;‘?@:»\gyﬁn
b) " Create rgsmg*fm“gagzdgi;;g %-on d 7
+ Make provision for taxation to the extent of Rs.100000.
d)  Write Off 20% of Discount o

c)

8 Mr. Karmath folds 600 12%
<5 lntezfe;t'is‘payablg-f_qﬁ-a
purchased ex

]

6688740

-interest at Rs.20400. On 30*

D & o

oad

rofit & Ldss for the year ending 31° March, 2017 and Batance Sheet as on that

daten

d Furniture at 5%
at 10% on débtors. .- ‘
at 10%on deb d
nisue of shares.

al

€

‘debentures of R, 100 each in SMT Ltd as on 1% April, 2016 ot & cost of Rs.70000. 08
ﬁa?'f]l,jrife-_aﬁ‘d".jf‘? December every year. On 1* June 2015200 debentures were

November, 2016 300 debentures were sold at Rs.32250 cum-
interest,

: Prépéré_'ldves.t;méﬁtﬁ?x:’fq{;hé-Vea'f.-zbls—17.

TURN OVER
ok
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R y
B Q.P.Code 05949 . o o
1) SEISAP

' ; C The balance sheet of KMT Ltd. as on 31* March,2017 is as follows:
| Liabilities Rs. [ RIS G SIS e
KN 10000 shares of Rs 10 each fully Land & Building” 5 .~ 7 L el o 84000 | T
P o ) paid 100000 | Plant & Machinery: .. - 60000 |-
M Profit & Loss A/c 20000 | Furniture & Fittings™ < " . 7. gt ¢ K
ol | Debentures 15000 | 5% tax freeJGovemmentB’on P TS SAG0E
15 Trade Creditors 20000 (3 ~72000 | -
Prowision for taxation 9000 76000 |

Proposed Dividend 15000 120007

On 31* March, 2017 assets were valued afuu‘ﬂér o g
Land& Building- Rs.95000, Plant & n-c@m-m 7TDBQ‘Fgrmtu;‘*e & Fittmgs- Rs 4000 SRS
10% return on investment can be fa‘nrﬁf‘tbe buslﬂes:s;f '.;.»- & )
You are required to find value of n Ihé bams ofﬁi]@’yg&‘ gurchase of super priﬁ’sts
‘ ‘{- ‘-:: i “ < "

Q.4 A Following is the Balance Sheet Qf wnﬁgsan 31"March{.201?
. j'-‘, ‘ﬁﬂaﬂcé Sh‘éat

e

g f

(.}J.

15

£ ;5',@“ N8
8% preference suamsams R R "Bmlding S sy 308000
each T TSR P 100000 ~‘Mach|ne|‘y 133000
Equntysharesbﬂb‘(l‘ﬁl@acﬁ "600050-‘ Sroel o o 490000
4 ":~— 1 100000&. 217000
! ~ 442004
: » 28000}
i 107800‘
o N 3 Fo 3b5m
PR 1148000-, ' 1148000

.__\ N

B

"\r‘-

Cred’toi's R
Provmoh tdr fnc‘umig*'

~The prof t of the cbmpany ‘fo‘r @he‘yea;‘f 1@13 to 2017, after charging all expenses, depreciation but before
~ taxation was. Rs. 2389Q0 Rs 268 13252060 Rs.280000, Rs.266000. On 31 March 2017 Building and
8 - Machinery were: taken as wqrtbtls_ 0 @nd Rs.210000 respectively. Income Tax can be taken at 50%.
.'“-Goor!wlll ma\{ be takgn Wurth Rs‘lw iﬁ this business, 8% is considered reasonable return on capital
emplclyed, W.M"‘ R AN
- ‘_Fme out value of equn'.y Shareumler fatr value Method, after taking into account revised values of assets.
& 8 OR

TURN OVER
3
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B Following is the Balance Sheet of Larsen Ltd. as on 31% March, 2017

Liabilities Rs. o gl O
200000 Equity shares (Rs. 10 2000000 | Fixed Assets -
each) |ﬂm A S L
Securities Premium 200000 | Carrent Assets ~ — = - [l 2400000 3
General reserves 800000 | & - = A A S :
Profit & Loss A/c : i
14.5% Debentures
Creditors

The boards of directors are proposing to buyback gqyﬁy“ghareb Ynu Mto.,' :
i) Calculate maximum number of egtﬂtv,sﬁates that can k.
ii) Maximum price the companv caﬁ offer. 7

iii) Pass journal entries -y

08

R 07
15
Ex-interest & Cum-lrﬁaregt : X
b) Sources of buybacko;f hams
c) Methods of va‘fuatron shares '
d) \] e
e)
1)
: 4 "3
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45

| 1

1)

i)
[ Fundamental, Natural, Religious) &5

[Time: 2%/, Hours]

Please check whether you have got the rnghgqugstlonpaper ,
N.B: 1 ﬂmare compulsory N PO
2 ures to the right indicate full marks.

A. Fillin the blanks by choosing the correct option (any 08)

i) Inthe state of , the number offarmers suladels thg l’ughes
(Bihar, Orissa, Maharashtra) \‘ -3

ii) As per the new industrial policy, 1991, licensing lsﬂequu%d qnly *h
[five, six, seven)

‘-.

rights aim at personal good of an in?ﬂhn

iv) Human rights have applicatiom
{Limited, Universal , Maximum) AP
v) The is a layer of gases surroungimg ou‘r pféﬁex. 3y
(Hydrosphere, Biosphere, Atm
vi) Acid rain is one of the harmful eﬂ%gzs QP._ +a
(Air, Land, Water) ;
Vi) means pre-judgem =
(Violence, Stereotypes, P?ejudke} : ;
arises when goaL&:QrQeted‘héhi’iruor is blocked

viii)
(Anger, stress, frustratton) Y & aw :
ix) helps to deve1op the powes’ef concentrat@m 3

(Meditation, socfalsupport, phvsrcalexercrse) 2 !
x) The ﬁeeds llﬁ‘at the hi gheSt level of th&hzerarchy df qulow s Need Hierarchy Theory.
(Esteem, chial selfgactuallza‘tnén) : S o AV

State whether the#qﬂowing staterrien’rs re Tr'ue or False (any ﬁ?}

i) Forced\mtgrauonmgy alsd be ca lléd 3sforch dnsplacement
ii) IT has maderommuniga‘tmn e;pénswe aﬁd'cqmti!ex S
iii) Freedom  of speech and ¢ express:on may@lsu ;nclude defamat:on

V) The fundamentaf»ngt\ts are al absb}ute G >

V) Natural environment prov ldgsweneyvabie ‘iources of energy

i) The composition’ of envirqn ment is the sarpe everywhere

vi!} Ragfonahsm is th&on{v chuSe“of aggression and violence

\nilj Type B personahty generqlly engagés In instrumental aggression

rx) Smoothmgfeters*tp qgcpﬁﬁmotlating other party’s interest

x) Wm~wm strategy fs to ane a probfem and not to shift the blame an other

) " ] 3t e

2. Expiam the_cnncept ofmigratiou & its causes and effects.
2 . I ‘fi ’ OR
Bneﬂy desqribe the l‘ole of corgorate farming in India.

S

SRS SP OR
Enwronment is: a natural capital, connected to the quality of human life”. Comment,

7 e

(P.T.0)
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07

15

15



“ & Mia Y PR -
b s o RS
ém,,,,w. SAPL e
R/ ;

> g,

G.y

NG
<)

eyt
u%-o.hﬂ,ﬂ\m.mr\.m
Gty O
% s by C

&

ATEDBFDBSF77D416BB550F33A02269F9
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ST T N Y S
Y ﬁ\ £ < " A
h_.._,,mw. AP
M0y,

Right to freedom of religion
Types of Ecosystem :

Significance of values
Coping with stress

Liberalization

=g

Discuss the cause of individual's stress.

Write short notes on (any 03)

5. Enumerate on strategies for eﬂmm conflicts.
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